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Question Shuffling Allowed : Yes
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Question Number : 1 Question Id : 4699751813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The ascending order of the numbers — 23,12, 0,—6,—100,—1 1is

— 23,12, 0,—6,—100,—1 Somge 8 (Ko
Options :
4609757201 * — 1, 0, 12,—6,— 23,—100

1,6 18 —23,~ 100
4699757202, ¥

4699757203. ¢ 100, —23,—6,—1, 0,12

4699757204 % 100,—23.12,=6,—1, D

Question Number : 2 Question Id : 4699751814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“The product of two consecutive positive integers is 30.” This can be expressed
algebraically as
“Both HBF FHFY Vogyw exin 30”. 699 903 Heah Hdoxsemo
Options :
S RO T |
4609757205, % X (¥ +2)=30

4699757206, ¢ X (x—2)=30

4699757207 % X (x—3)=30

s _
4699757208, X (x+1)=30

Question Number : 3 Question Id : 4699751815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of cos 48° — sin42° 1s
cos48° —sin42° Qend

Options :

4699757209. ¥ 0

1
4699757210, % 4



| =

4699757211, %

1

4699757212. ®

Question Number : 4 Question Id : 4699751816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The compound interest on a sum of I 2500 for 2 years at the rate of 12%
per annum . if the amount 1s compounded annually is
32500 o 12% S8 Bew TS SoSHTR. 2538 58 BY) L HE8E
o [ [~ =3 [5) [~
2 SosdreH edy SE 56
[
Options :

X 366

4699757213, &

4699757214, ¢ X636

X 663

4699757215, %

=
4699757216, * X 330

Question Number : 5 Question Id : 4699751817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the cost of 7%?71 of rope 1s ?12% , then 1ts price per meter is

72 bt Eridiie [ vt 22, s © [ o b J

Options :

30
Z ZE

4699757217,
18
I3—
4699757218, % 25
61
3z IE

4699757219, ¢
45
T 6—
90

4699757220. ®

Question Number : 6 Question Id : 4699751818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If A= {x:xeW, 0 <x <6}, thenroster form of set A is
A= {x:ixeW, 0 <x <6} oond S8 ATY) wdse Brdo



Options :

{0,1,2,3,4,5,6}

4699757221, ®

{1,2,3,4, 5}

4699757222, %

{0,1,2,3,4,5}

4699757223, ®

i1,2,3,4,5,6)

4699757224, ¢

Question Number : 7 Question Id : 4699751819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The difference in the degrees of the polynomials 3x%y> + 5xy’ — x® and 3x° — 4x® + 2 is
3x%y? + Bxy’ — x0 28ak0 3x8 — 4x3 + 2 e J8srere Fso

Options :

4699757225, ¢ 2

4699757226, % 3

1

4699757227. ®

4699757228, % 0

Question Number : 8 Question Id : 4699751820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If H and L are the HCF and LCM of two numbers A and B respectively, then

Botdh Dogren A HdA» B B.arge 0B 2.8 e 553 H H08dn Leond
Options :

4699757220, ¢ A X H=L xB
aso0757230.w A XB=LxH
4609757231 « ATB=L+H

A+B=IL-H

4699757232, %

Question Number : 9 Question Id : 4699751821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If the zeroes of the quadratic polynomial x> + (a + 1) x + b are 2 and — 3,then
58 25058 x2 + (@ + Dx + b Gwd) Eeomgen 2 5H8dm —3 wons, ©Hio

Options :



4699757233, #
4699757234, ®

4699757235, %

4699757236, ¥

Question Number : 10 Question Id : 4699751822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, a pair of inconsistent linear equations is
& (Bod &S, wdond B $dosSere @

Options :

2x+3y=8& 5x—4y =3

4699757237, % Y Y

1609757235 & OX T3y =9& x—8y =0

1609757030, v 2X + 5y =11& 4x + 10y =21

4699757240, ¢ X — 4y =0& 6x —8y =12

Question Number : 11 Question Id : 4699751823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the vertices of a triangle are (3, 0), (0, 4) and (0, 0) . then its perimeter (in units) 1s
B3be dozeo (3.0). (0. 4) HBa% (0. 0) wons wR Sy Fed ( aHriRs®)

Options :

-

4699757241, ®

4699757242, ¢ 12

4699757243, % 7 V12

=
4699757244, % 7 + N7

Question Number : 12 Question Id : 4699751824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AABC~APQR . It AB=3.6 cm. PQ=2.4 cm and AC = 8.1cm, then the
length of PR (in cm) 1s
AABC~APQR .AB=3.6 20.%., PQ=24 2o.f., HH8cm AC=28.1 Do.fo.,

wond PR &8 ( Do.8v.ed)



Options :

4699757245, ¢
4699757246, %

4699757247,

4699757248. ® 4.2

Question Number : 13 Question Id : 4699751825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The list of numbers —10,—6,-2, 2, ..... 18
—-10,—-6,-2, 2,.... 308D Sogre ECatol [
Options :
an A.P.withd = — 16
Sorodssn = -16 Yo X @of (38
4699757249, %
an A.P.withd = 4

SoroSdsm =4 Yo o8 ©o¥ (38
4699757250 ¥

an A. P.withd = —4
reoorsms) w  STTOSEE =—4 fo ¥ eof (38
not an A. P.

4699757252, & SRS L%c% e

Question Number : 14 Question Id : 4699751826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the roots of the quadratic equation x? —x—2=01s
58 $&o%dmo X2 —x— 2 =0 Gw¥) Srerod® ol

Options :

4699757253, %

2 | =

4699757254, &

2

4699757255, ¢

)
4699757256. & =

Question Number : 15 Question Id : 4699751827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

A bag contains 5 red balls. 3 blue balls and 1 white ball. If a ball 1s
drawn at random, then the probability of getting a blue ball 1s
2% BoDE* 5 QB posven, 3 Deoo moden B 1 89 208 Zod.

© S0 Hod 2.8 208 argHLorr 83, 08 deoo 208 ©&y; Sogrd
Options :
1
4699757257. ¢ 3
2
3
4699757258, %
1
4699757259. % 9
5
9

4699757260. #

Question Number : 16 Question Id : 4699751828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ratio of present ages of Ramu and Mohan 1s 3 : 5. After 10 years, if

this ratio becomes 5 : 7 then the present age of Mohan (in years) is

orEn HBAD IS © (S Schdne ARG 3:5 Hdan 10 Jodyskne

S 7B Hahie VY8 5:7 eowd, TS (Hhd by (Hosres®)
Options :

20

4699757261. #

4699757262, % 13

n

0

4699757263. #

[R]

4699757264, ¥ 5

Question Number : 17 Question Id : 4699751829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the given figure, a circle touches all the four sides of a quadrilateral
ABCD.IfAB = 6 cm, BC = 7cmand CD = 4 cm, then the length
of AD (in cm) 18

L)Y B0, ¥ :;e)g:m zﬁéaé%méw ABCD &%) mreni® ghereid

Qothihd. AB = 6%0.8. BC = 7 2o. §. 58d CD = 4 2o. &
won®d AD &8 (Ro..o6b)

1B
)

f‘ /
<

Options :
4699757265. %

-

),
4699757266. ¥

4

4699757267. ®

4699757268 % =

Question Number : 18 Question Id : 4699751830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the perimeter of one face of a cube is 20cm, then its total surface area (in cm?) is
¥ Bshsodsm cﬁwﬁg ¥ oo ﬂiaé.gﬁ"e:e‘é 20 0.5, wond o= éo?’.gjﬂg
Segzero (3. 20.8. o)

Options :

4699757269, * 400

4699757270, % 600

4699757271, % 125

4699757272. ¥

Question Number : 19 Question Id : 4699751831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If the mean of the mumbers 27 4+ x,31 4+ x,89 + x, 107 + x, 156 + x 18
82, then the value of ‘x” 1s
27 +x,31+x,89 +x,107 + x, 156 + x oodHe Sien 82, wond  ‘x’ Dend

Options :
4699757273. ¢ 0

4699757274, # :

4699757275. ®

4699757276. %

Question Number : 20 Question Id : 4699751832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mohan gets 3 marks for each correct answer and loses 2 marks for each
Wrong answer. He attempts 30 problems and obtain 40 marks.
The number of problems he solved correctly 1s
TS (338 $BR Jerprae 3 Srdnen Srothertd B (38 85 SSrepeaedE
2 Srsgen Ehiertd. 08 30 JDHie (HaHS)0D 40 S SromEo.
©sond ©&ED é&rﬁg RSPEERR N ‘:655:%5&: éospa

Options :

4699757277, % 10

4699757278. ® 15

20

4699757279. ¢

4699757280. # 25

Question Number : 21 Question Id : 4699751833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Contact forces among the following are
Bod =&t )o@eren

1. Tension
ééaw 200
1.  Magnetic force

@cﬁa&&oé D0

1.  Normal force
odeon oo

1v.  Gravitational force
f’biﬁaagéélm OO0



Options :
4699757281, % 1.1V

4699757282, % 11, 111

1, 1i1
4699757283. ¢

4699757284, % o

Question Number : 22 Question Id : 4699751834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o . 3% . .
Resin identification code CQ—’ indicates

o
BHS 8o Do Cq—’ BOCHECERS
Options :
Poly Vinyl Chloride ( PVC)
& 935 £BE
4699757285. ¥ Fn R
Polyethylene Terephthalate ( PET)

= i
4699757286, % OBOS Bo-gBes

High — Density Polyethylene

©B% FolBS ZOAS FDHOST
4699757287, ®

Low — Density Polyethylene

S FrolBE DAY TOHOS
4699757288, #

Question Number : 23 Question Id : 4699751835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Earthquake 1s caused due to the disturbance deep inside the earth’s
Bos 25088 i FrSed® & @8 5505w roardE sEmiTeon.
Options :
Core
Zolgo
4699757289. % i
Crust

ghedtoeo
4699757290. ¥



Mantle
vireate]
4699757291, % Vi e

Inner core

w088 ¢ Zolo
4699757292, #

Question Number : 24 Question Id : 4699751836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The reason for appearance of mirages 1s
doSSryen X0DodeRE He =80
Options :
Reflection

o il
4699757293, ® o8 Horigso

Refraction

o8 SEasso
4699757294, %

Dispersion

-
o8 gHo
4699757205, % =

Total mnternal reflection

- i i
NOJPTroES DoTRsKo
4699757296, ¥ @ e

Question Number : 25 Question Id : 4699751837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is called morning star ?
8ob =HS® BOR FiH T ©d heorH?

Options :
Pole star
NS ]e)
4699757297, % év =
Sun
4 o
4699757208, % FO°BE
Mars
oSt
4699757299. %
Venus
HBH

4699757300. ¢



Question Number : 26 Question Id : 4699751838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Homogeneous mixture among the following 1s
Bod m&&° Serfiah DolFsoo

Options :

Sugar in water

D -Hosmed o|Eoo
4699757301. ¢

Sand in water
4699757302, % DBo—2% fo(Foo
01l 1n water

D& 573 Qoo
4699757303, %

Sugar 1n salt

4699757304, ¥ -

Question Number : 27 Question Id : 4699751839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a chemical combination reaction?
Bod TBE° EFchS Sodeis 58

Options :

4699757305, 8 €aC0O; — CaO + CO,

CaO+H,0 — Ca(OH),+ Q
4699757306. ¥ - -

as99757307, 8 21 +2HC > ZnCh + H,

NaOH + HCl — NaCl, + H,0
4699757308, % -

Question Number : 28 Question Id : 4699751840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following substances that used in our daily life 1s acidic m nature ?
oo D 22808’ anE@rRoD |Bod émﬁcéoﬁs o Sprdo EDAK Eﬁcr%o &?
Options :
Milk of Magnesia

-
4699757309, % &5‘1’ . Eoﬁ&gldjjn



Distilled Water

?;3;{5?6 80
4699757310, %

Lemon Juice

D50 8d0
4699757311, ¥ e

Baking Soda

Sody T
4699757312, %

Question Number : 29 Question Id : 4699751841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a byproduct of Petroleum?
8ot T&E° PO’ ¥ & ad)yo =08 ?

Options :
Kerosene
2 2,
4699757313, ® 855 wond
Paraftin Wax
oI o

4699757314, %

Lubricating Oil

Z0BHeI™ 6 S50
4699757315, #

Coaltar

=5
=%
4699757316, ¥

Question Number : 30 Question Id : 4699751842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Change 1n the direction of sunrise between winter and summer season 1s
39, 30 sered® SrEhKabo BIET KON St

1. Permanent Change
TS S8
i1. Temporary Change
oL S8y
1. Natural Change
ISECE RN b))

1v. Manmade Change
S0 (DaHE08® wbh St

Options :



1,111
4699757317, %

4699757318 ¢ 1L

4699757319, % 12 1V

4699757320, ® L1V

Question Number : 31 Question Id : 4699751843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The tissue that responds to external and mternal stimuli 1s
iy S8 ©odE abdveD (H8YosoT Lnareo

Options :

Muscular tissue

4699757321, % s Sy

Nervous tissue

=
4699757322, ¥ o8 Smwreo

Connective tissue

DoT@raX Xoreo
4699757323, #

Epithelial tissue

&85 Emareo
4699757324, #

Question Number : 32 Question Id : 4699751844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the Incorrect pair from the following
208 T&E° $B="D wd HBoSos

Options :

Platyhelminthes - Dorsoventrally flat body

o?gé?m@éoﬁsﬁ é&é 6880 ng DY &0 $680
4699757325, %

Echinodermata - Spiny Skinned animals

BT e Sotdcind S8 Ko dden
4699757326, %

Arthropoda - Jointed legs

o8 Ly o =y

4699757327. %



Nematoda -  Segmented worms

D5t poldsto Heo SHeo
4699757328, ¥

Question Number : 33 Question Id : 4699751845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who published the * RED DATA BOOK™ ?
B8 Gér wf S IS (HHBomh?
Options :

4699757329. ® ICBN

IUCN
4699757330 ¢

ICZN

4699757331. ®

4699757332, % WWEF

Question Number : 34 Question Id : 4699751846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following and identify the correct option
Bob TER 855D IS =R HBotol

A. Budding (1) Paramecrum
sfubysso Fo-fotrcho
B. Parthenogenesis (i1) Yeast
o0 2o &
C. Regeneration (111) Honevbee
HH&EB 83éx
D. Fission (1v) Planaria
LA FoRfaleve
Options :
A-(1) B-(ii1) C-(i1) D-(iv)

4699757333, ®

4699757334, % A-(11) B-(iv) C-(111) D-(1)

4699757335. ¢ A-(1) B-(i11) C-(1v) D-(1)

A-(i) B-(iv) C-(iii) D-(ii)

4699757336. ®

Question Number : 35 Question Id : 4699751847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Identify the bacterial disease in humans
SrsHes® SO opiBahS o0 Hhiodod

Options :
Diptheria
wtleloven
4699757337. ¢ =
Dengue
Qo
4699757338. # e
Encephalitis
.
4699757330, 8 VBT TTh
Mumps
1558 Defen
4699757340, #

Question Number : 36 Question Id : 4699751848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the trophic level of the snake in the given food chain
2Y)S BIFS FPennd® S End) PRE Frond HoSod

Grass — Insect — Frog —Snake —Eagle
58 ofessn 555 oadde
) (]
Options :

Secondary Consumer

ar&ich DITriTrSen
4699757341, % -

Tertiary Consumer
Hbah VAT
4699757342, ¢

Top Carnivore

4600757343, % RSO SrorriFien

Primary Consumer

[E=e580% DAIoeiiTrtoen
4699757344, ®

Question Number : 37 Question Id : 4699751849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the protein digesting enzyme from the following
808 T8S° A5 o 48 (BobedH SITEHLE JoBH & HGoSesd

Options :



Sucrase

e
R
4699757345, % E

Lipase
S
4699757346. %

Trypsin
(E%)S

4699757347, ¢

Ptyalin

£0POS
4699757348, #

Question Number : 38 Question Id : 4699751850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Culture of Honey bees is called
S3éiie DoBTR) Ber LOLrH

Options :
Horticulture
sFa%end
4699757349, % &
Apiculture
o¥end
4699757350, ¢ ©
Aquaculture
oo=Xend
4699757351, % «T R
Pisciculture
H2%en5

4699757352, %

Question Number : 39 Question Id : 4699751851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT sentence from the following
Bod &S 580 TR HBoSod.

Options :

Continuous cultivation of the same crop leads to imbalance i the fertility of the soil
P 2.8 BED8 Do SHIT Bosir P8 Jo FBH0SEE” SHhderd 5808
Planting of non- native crops 1s known to be beneficial for soil

conservation

3BE B arh E5Kos® FOESE Sowen Hngy &(F SrAxan
4699757354, ¥ = % = =



Earthworms enhance the availability of macronutrients in the soil

TEFEnen SHDVS Sre Swresres S)BED ©oTnd® SHer Tamow
4699757355, # - =8 ==

Tilling of soil can lead to loss of organic matter and death of
microorganisms in the soil
Jod Do Jod Dolbdd dorge B&hSto HBaw Jod wol drgEHen

SOS08 oob HBood
4699757356, % =

Question Number : 40 Question Id : 4699751852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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The Experiment given in the picture illustrates
oS a50dS [B@rro HID HSBk0d

Options :

Heat evolved during respiration

% (Band® afo DbSe
4699757357. ¢ =

Release of Oxygen in aerobic respiration

TANHIRE TR (BoHS® oS JensEio
4699757358, ® -

Release of Carbondioxide

sHe 8 o586 dde
4699757359, # iy

Carbondioxide is necessary for photosynthesis

2¥oadr SodrEnBch B =8 G o6 od4rEs
4699757360, # = ¢ Y £ 9 =
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All the urban areas having population between 5000 and 1 lakh are called as
5000 $Bain 1 oF g aveye o) ([@ovred 3 ©otrdh

Options :



Cities /Class 1 cities

Sioren /== 1 Sifoeen
4699757361, % .

Towns

HeacTeen
4699757362, ¥ «

Revenue / Census Village

I.l'l ¥ P_<1
1699757363, % sordho /| ey 8% (R0

Hamlets

|rraren
4699757364, % u
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Identify true statement related to Mesosphere
DoPPeiideo D Sonododd B Trod) HBoted

Options :

Thus layer 1s almost free from clouds and associated weather phenomenon
4699757365, % OB ES® Fogrren HBD TEeSEmo okl

It contains ozone layer.

4699757366, % 205&° £.8°5 &8 sotnod

Most 1deal for flying jet aircrafts.

Dirren AEErDE edrod oZroindd
4699757367. % ] =

Temperature starts decreasing with the increase n altitude.

4609757368, ¢ V2 28R F°§ aff (S &iftfo (S BogHhipSod

Question Number : 43 Question Id : 4699751855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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In a map, contour lines join the places having equal
2.¥ D806, motad Bwen 28 Sdrdore a8 [Erozrolh Senshzrow

Options :
Heights
4699757369. ¥ -
Temperature
e8P (118

4699757370. %



Rainfall

S8 arE0
4699757371, % =

Snow

snoth
4699757372, %

Question Number : 44 Question Id : 4699751856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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The following i1s Not the tributary of River Godavari
& Bod &S Ford 568 adid =06

Options :
Kadem
'
4699757373, % SGO
Dindi
&od
4699757374 ¢
Manair
SRS
4699757375, %
Manjeera
Shofs

4699757376. %
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In these forests the trees are adapted to salt waters and the flow of tidal waves
& o8P’ Biy oy VEE BB vee HaFOE edrboorr dotrow

Options :

Thorny Forests

4699757377, % :DJ;EE Steo

Evergreen Forests

4699757378, % S0 SEDS B 0a

Deciduous Forests

B0 eden
4699757379, ® ) )

Mangrove forests

08 eisden
4699757380. ¥ 2

Question Number : 46 Question Id : 4699751858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which are the special target groups in Antyodaya Anna Yojana?
©o8%Eah ©f) Trads® (HBE o SSrster DO?

Options :

All White card holders

BAE ol £
1699757351 % B ORS T8 Cemrtolidy

Poorest of the poor

- =

wSes® 0808 DBTY
4699757382 ¢

Poor
H&en
4699757383. %

All the people

*’ &
4609757384, % (©EOOLBE

Question Number : 47 Question Id : 4699751859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Which of the following comes under service sector?
Bod &S D8 Do S50l Do00dodia?

Options :

Fisheries

éaé::ﬁ Sl Tolm)
4699757385, %

Sugar Manufacturer

x‘,ﬁgﬁ Eirbore
4699757386. %

Dariry Industry
4609757387, % 6 BBED
Milk vendor

&re QES
4699757388,
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National Institute of Nutrition (NIN) 1s located m
FHBADH DAY %oy (NIN) =X @ob

Options :

Delhi

&9

4699757389, #



Kolkata

85
STl o
4699757390. %

Hyderabad

Fopaleanda)
4699757391, ¥

Mumbai

oo
4699757392 % =
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Balancing the use of resources and also conserve them for future

generations 1s called
St addrioto HBan TEY AR dorw eddTedh Jotgoiito

o) o (Bod HB508° KrIFH
Options :

Development

=052

4699757393. ®

Devaluation

Dend SHoL
4699757394, % 002

Sustainable development

LVB esi)ée}&:
4699757395. @ @

Destruction

DroRo
4699757396. % =

Question Number : 50 Question Id : 4699751862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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(number of births + number of in-migrants) — (number of deaths + number of out- migrants) Indicates

(e éoq:ﬂ: + S0 HHY 70 éomﬂ: ) — (o8 éospg + Jod IS 78 éoaa; ) % ZrDoD6
Options :

Population change in a place

=N
4699757397. ¢ @aé‘:’@s BTPGE S8

Density of population m a place

4699757398, % 28 ($B¥0S" adarolss



Death Rate in a place

©o9757300. 2% (¥BE0s® Solere Bw

Working Population in a place

2% (HEFos® 3D T wees
4699757400. ® =7 & o
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The lower house of the German parliament 1s called as
B8N FPDoLT BIDD B 2%

Options :
Reichstag
St
4699757401, ¢ e
Diet

a =
4699757402, # =

Bundestag

moaa;ﬁ
4699757403, %

Senate

ReT
4699757404, ¥

Question Number : 52 Question Id : 4699751864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Principal author of Declaration of American Independence 1s
OFBES xS0l (BELS Twy) (Boed Siond
Options :
Louis XVI
erovn XVI
4699757405, %
Charles-I

=
4699757406, % aﬁ"a’hj I

Christopher Columbus

2PRE BPeonn
4699757407, % S e

Thomas Jefferson

L -,
4699757408, ¢ ta“;im a @5‘35



Question Number : 53 Question Id : 4699751865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify False statement related to the Hyderabad State Bank
2rSoers DeT ol B HonoHodS HBTED ol HBosol
S (5] o 2) !

Options :

It was founded by the Nizam

Qoo HIQ Do
4699757409. % ®

It worked as the state’s central bank

8 oolor8 Zol8 ok 305%06
4699757410, ® R @5 ¢ B

Managed the Osmania Sikka, the currency of the Hyderabad State.

ST TR (Bdro arcir o dd-drodod
4699757411, % = 8 e ¢ & i

The Hyderabadi rupee, was same as the rest of India.

Troeerd Harow, EEEES ) LADY (Frozw @555065 SSrdore aodd
4699757412, ¢
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Arrange the following in chronological order
208 =& soEdroRrtorr ool

A) Rudradeva

SIEBHE
B) Ganapati Deva
HKeadd 8%
C) Rudramadevi
B5BD

D) Prataparudra - II
Boeseols - 11

Options :
ACB.D
4699757413, &

B.B. €, A
4699757414, *

A BC.D
4699757415, ¢ :

C,B,DA
4699757416,

Question Number : 55 Question Id : 4699751867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

The English defeated Sirajuddaula, the Nawab of Bengal m
Jorrd Bz DT o woidinen % dﬁméoé{' Lo

Options :
The Battle of Plassey
&b oo
4699757417. ¥ @
The Battle of Buxar

mt.f:JE gsnio
4699757418, ® “

The Battle of Afghan

wHe dodo
4699757419. % a1 C

The Battle of Panipat

050 dwdo
4699757420, ® ©

Question Number : 56 Question Id : 4699751868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Identify False statement related to the Constituent Assembly
m:s“,;or‘i ([ JonohHod [HB==H T=2R) 1h8otsod

Options :

In the beginning. the Muslim League members did not attend the meetings

ooy« EE0HOE, Snko BR Siyes SirdTet: Falh BO

In all 1t had about fifteen women members.

ma@oﬁ 3856° Hrd HOTES [Hood Hiree éﬁ:&@a e
4699757422, %

Members were elected through universal adult franchise 2

&% STl A oo Hibren XS e
4699757423, ¢ & R = S

Seats were allocated based on proportion to their respective population.

T8 BT ORIMNGOT ?;Jéwm ZéronoinmEon
4699757424, % =

Question Number : 57 Question Id : 4699751869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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As per the Indian Constitution, Abolition of Title 1s the part of
88 ool (Hoebo e 88 o8 E0E° 2. =eilo

Options :
Right to Equality

D[SeReEo TEy
4699757425, ¥ = =



Right against exploitation

&8 83Bore Ky
4699757426. % o

Right to freedom

= e
4699757427, % gE) 8y

Right to information

REETE FEy
4699757428, & <

Question Number : 58 Question Id : 4699751870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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The Person who launched Champaran Campaign is
EleT-vple )] Sl (@B0dodD égé

Options :
Sarojini Naidu
109757420 % OB TEED
DurgabaiDeshmukh
J699757430, %  COTREO0 BEEwE
N.G. Ranga
ON.8. Borr

4699757431, ®

Mahatma Gandhi

oo rob
4699757432, ¢

Question Number : 59 Question Id : 4699751871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Identify FALSE statement related to Speaker of the State Assembly
mé e_—'.w?océ %5.55 Qo050 $8="R Ts%R) ool

Options :

All the MLAs together elect a person as the Speaker
Troosdr K0% 2.8 B H)58 r I¥nHotrd
4699757433, ¥ -

The Speaker conducts the Assembly meetings

4699757434, % %55 @?oo& RErITer QG ErIS

The Speaker 1s responsible for controlling the flow of House business

P S HHfore OabolBod wres 5158 2 Boinod



The Speaker 1s not an elected MLA
5% e DB H& iy oo
4699757436 ¢

Question Number : 60 Question Id : 4699751872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Identify Correct statement related to Gram Panchayat
IS SomrchHS2 Bonododd $BE T3 HBoted
Options :
The sarpanch 1s elected indirectly

B80S HFForr AYZHTH
4699757437,

The sarpanch and ward members elect one of the ward members as the deputy or
upa-sarpanch
JEyod Hodaio 3‘58 Sghren, a?dg éﬁ:&eé{' 2,589 &’@'Eé S ad-dou ™

o
4699757438. ¢ QHoird

Gram panchayats have no power to levy some minor taxes in the villages

I slin £°Q) 9K) Hjer DHoB ehzBo (rx Homronbed T
4699757439, %

The annual plan of the panchayat 1s prepared and discussed in the Zilla Parishad

S HBRS &° Domrawd T8 B St T, I8)FB
4699757440, % = =
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Question Number : 61 Question Id : 4699751873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why do you want to become a teacher?
& o B dint ool Esiﬁat‘ooéwa@_éo?

Options :



It 1s a stress free job

4699757441, % 2 &;g& EK) ﬁﬁs‘;ﬁo

Your parents desire

o SDSoHe 0%
4699757442, % R

You are interested in it

=1 8
4699757443, & D% £06° ©DHO Bod

Easy to get job

aﬁ%ﬁo Srosto Hedio
4699757444, %

Question Number : 62 Question Id : 4699751874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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The full form of NEP 2020 1s
NEP 2020 &%) $r8 8rdo
Options :

National Education Programme 2020

1600757445, % DS JEYTAS (BerrS 2020

National Education Policy 2020

NGRS TR Sred 2020
4699757446. ¥

New Education Policy 2020

Koo QEBRT Frod 2020
4699757447, % = o)

Nation Education Programme 2020

VAT ANERST B 2020
4699757448, %
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Women teachers are preferred in primary schools because
(= &nE &Pé%ﬂ@ﬁj Sodrege ﬁ&m‘gcﬁw@ﬁ: @*qﬂé@t‘é A mRe =8wo

Options :
They do not punish students

4699757449, % TE0 DTTHRORD SoBDOSD

Women teach better than men

SHen HHpela) DT SOOI
4699757450, ® S0 REDepeaT. g3 &%



Women teach with patience
&eo 8.2%8° FFadSH

They help students to overcome ‘separation anxiety’ of being away from their mothers

4699757451, %
&Jm&é{gw S &9 Dod) Srdorr tﬂa‘claﬁﬁ m&fc@éiﬁa B oSERE JIFDHIEED

4699757452, ¥
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A plan of action prepared by a teacher for a class and period to achieve

the desired objectives is
2.% Eﬁgé EBK8 0BEH HBIHE D «80Dd oG FHoHeE ﬁ&m@cﬁwcﬁa

Srerobodd seogsten (Hieds

Options :
Unit plan
CeReT HEPHEm

4699757453, %
Lesson plan
Coplo g Tntetvo

4699757454. ¢~ © @

Teaching plan
S5 (Hea@s
so90757435, % D00 €

Project plan
(DEenTe (He
4699757456. %
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The most effective learning 1s
o (HgrRosdd @f,iéééo
Options :
ICT enabled learning
"
ssoo7s7457, % 1CT @588 oo
Experiential learning
N EE oirdio
4699757458. ¢ = &
Individual learning

Sring e2iddo
4699757459, ® &= =



Group discussion

2n08 5-53_}
4699757460. %
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The effectiveness of learning depends upon
?6333633’306@_}26 ©3d%0 Eaﬁ)?._} S8HE Botnod

Options :

Effective curriculum

D0PH0BEE a8 (Do
4699757461, * e = -

Effective methods of teaching

HBS08TY FdTe Hvden
4699757462. ¥ @ s =

Effective discipline
Q0PBoSHd (BodFe
4699757463, % =

Effective textbooks

4699757460, 8 SOOFROBERN &gy Yjsen

Question Number : 67 Question Id : 4699751879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Teachers become popular among students, when they
aErgydne dophe eidn SrofeD

Options :
Friendly with them

4699757465. ¥ B8 rorr somd

Teach extra classes

SR S8Ndhen Q8 iroTd
4699757466, # =

Help them solve their problems

7B Ddodrod B8 Kod® SFEaho TAEO
4699757467, ¥ e ol

Award good grades
2od ) as=®
4699757468 ¥
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Education 1s a Tri-polar process. What are they?
DB ©I8 (8 — (50D (BB, ©D HE?

Options :

Teacher. student. principal

4699757469, % SEEYAND, Dol B SFareryao

Teacher, student, parents

SBEroinD, Doed, SHSoten
4699757470. % P Ba™ e

Teacher, student, surrounding environment

BEETAND, Doed, HiJoeen
4699757471, ¢ & “e

Teacher, student, community

BRI CND, b, Hdraso
4699757472, % ) : o’
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Teacher’s relationship with students should be
E)mad@méa a&wacﬁwﬁlﬂ BoS50dhd Sono&o

Options :

Friendly

DTS
4699757473, % BT 0w

Empathetic

RF0gioe
4699757474, &

Strict
EBSH
4699757475, % =

Punitive

éodm“ééﬁ
4699757476, %
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In 21* century, education focuses on development of
21 5 dord &° D & ©DHB PR DoF0B.
Options :

Social learning

FSrRE ogiddo
4699757477, %



Intellectual learning

= 2 ',
4699757478, % @&ﬂﬁ@iﬁ @eﬁw&éo

Emotional learning

S ——
4699757479, % P > o4 B0

Socio-emotional leaming

FSrRs - STE oSt
4699757480. ¢ =
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A teacher should have
S dnt 0N aotidodod

Options :
Values
e0IIED
4699757481, %
ICT expertise

ICT & @=&eg0

4699757482, ®

Competencies and skills in teaching

S5 Desoorren SHBAL SadeTren
4699757483, ¢ L

Good physique

@oSN Brdo
4699757484, % =2
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To mmprove the quality of education, it is necessary to
D&y TeeapS DBHBTEHERE, 26 ©S¥B0?

Options :

To evaluate students continuously

oot Vosdo Sreroiso Sevsinte
4699757485, ¥ ©

Revise curriculum

FForoTo NHdoSEo
4699757486. # 2]

Provide good mfrastructure

H0d O Sharairen doin IO
4699757487.



Recruit teachers

sargrrdnes Qchdhosto
4699757488, ® =
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A student learns better if ]
Doegd ooy Td'd:t}_,’"sa‘a:o@

Options :

Given strict coaching
EBO0S 8% 3T d
4699757489, %

Respected for his achievements

oSl FEHod T3DoTd
4699757490. ¥

Punished for his errors

=t o o
1699757491, % T8 EFpeh Solowd

Taught in his mother tongue

ﬁ“é@ﬁ‘ﬁéﬁ 580D
4699757492, %
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Broadly education means development of
&J@éorﬁ D @B = @i}aﬁag

Options :

Human mtelligence

308 (deg
4699757493, % =

Human resources

1600757404 v TR Ve

Good human beings

Spod) sodospe
4699757495, %

Human activity
IS sEEerare
4699757496. %
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The learning which 1s a result of drawing inference in a class by the student 1s
38158 168" bne $DIorr Doyl w8 BB

Options :
Creating
o D
20t 0ed
4699757497. % B
Remembering

pag 8y b
4699757498, % =

Applying

DOTr=Rohed
4699757499. %

Analyzing

&Jﬁ&oiﬂ:éa
4699757500. ¥

Question Number : 76 Question Id : 4699751888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The meaning of education is
D& T edo
] [-

Options :

Learning

[ EaiTTe)
4699757501, % ﬁ“

Modification of behavior
DSBS 5B5ES
4699757502, ¥

Acqusition of skills
S DB0TFE
4699757503, % B =

Knowledge

=50
4699757504, %

Question Number : 77 Question Id : 4699751889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
For a teacher, the important challenge 1s
aarocint & o8 SngPd Soren
Options :
Complete syllabus

Heooh B Jrd I
4699757505, # ==



Conduct examination

g B o =
4699757506. % aokes Regirosolh

Maintain discipline n the class

S858 KBS (E8%nd oo
4699757507, ® =t

To make learning process enjoyable
ogDE (HBab esoltrabio dabio
4699757508, ¥

Question Number : 78 Question Id : 4699751890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not correct ?
Bod =&&° D& 58S = ?

Options :

Education for life

2980 ko e
4699757509, % v

Education through life

£9&0 oo Qe
4699757510, % e e

Education throughout life

Lm0 D&
4699757511, % “

Education for job

&Sséﬁo 550 33655
4699757512, ¥

Question Number : 79 Question Id : 4699751891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

National Talent Search Exam 1s conducted by
BaH 280t D) $65 V5 ErodSTS

Options :

University Grants Commussion (UGC)

4699757513, * RSB (rot) RS

National Council of Educational Research and Tramning (NCERT)

sorsrse v RS TRE ©F JETARS BRE) sof @R

National Council for Teacher Education (NCTE)

0SS 98 S35 JsrSHS
4699757515, % =



Union Public Service Commuission (UPSC)

G5 0HS SHDE HED 2HonS
4699757516, e ™

Question Number : 80 Question Id : 4699751892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How do you deal with a student disrupting others ?
s8Hed wodveaho DR &wg%éﬁ S der RTBRB?

Options :
Detention
 Qenmydse
4699757517, %
Warning
Bl
4699757518, ¢ L
Scolding
8éto
%)

4699757519. %

Sending out of class

S8HE 008 nche® Hoddo
4699757520, %

General English
Section Id : 46997563
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 46997575
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 4699751893 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions : No
Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (81 to 85)



Read the passage given below and answer the questions that follow (81-85)

Why do people from different cultures sometimes have misunderstandings or conflicts?
Because they can interpret the same thing differently. Some behaviours that are polite in one
culture can seem rude in another culture. Clothing that is very nice in one cultural context can
be entirely inappropriate in another.

Gestures and actions take on symbolic meaning when interpreted through a cultural lens.
Greetings. for example, vary widely from culture to culture. How should you greet a
particular person? Do you shake hands? Wave? Give a kiss on the cheek? Is a hug
appropriate? Do you bow? The rules vary widely around the world. Interculturally competent
people will adjust their behaviour according to the context they find themselves in.

Greetings are fairly formulaic. The right way to greet different kinds of people can usually be
described in a few rules. Other cultural differences are more general and are the result of
differences in values. We must take note of one such difference: the difference between high-
context and low context cultures. As you will remember. most cultures in Latin America, the
Middle East. and Asia are high context cultures,

For each of the following questions, choose the best option

Sub questions

Question Number : 81 Question Id : 4699751894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What according to the author is the reason for conflict? (line 1)
Options :
Diftferent interpretations
4699757521, %

Different cultures
4699757522,

4699757523, % Different behaviours

4699757504 % Different opinions

Question Number : 82 Question Id : 4699751895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What does it mean by “Gestures and actions take on symbolic meaning when
interpreted through a cultural lens™? (line 5)

Options :

People should use different lenses for different gestures
4699757525, ¥

4699757526, People’s behaviour 1s judged based on their actions



People’s behaviour should be understood in terms of culture
4699757527, ¢

Gestures and actions have to be interpreted symbolically
4699757528, #

Question Number : 83 Question Id : 4699751896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On what basis do the interculturally competent people adjust their behaviour? (line 9)

Options :
Competency of others
4699757529, % P by

14609757530, % Others behaviour

4699757531, % Others culture

The context of the behaviour
4699757532, ¥

Question Number : 84 Question Id : 4699751897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to the passage. why are greetings formulaic? (line 10)
Options :
Because greetings need formulas
4699757533, # el ; :

Because greetings are formal
4699757534, %

Because culture is rigid
4699757535, ¥

4699757536, % Because greetings have some rules

Question Number : 85 Question Id : 4699751898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What values is the author referring to in line 12 7
Options :

4699757537, ¥ Differences in the way people use context for culture

4699757538, % ¥ alues of people living in different countries

4699757539, % Cultural differences of people

Value of greeting other people
4699757540, %

Sub-Section Number : 2
Sub-Section Id : 46997576



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 86 Question Id : 4699751899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The idiom “to drive home’ means
Options :

14699757541, ® to find one’s root

169975754, % back to original position

4699757543 % to return to place of rest

4699757544, & (© emphasise

Question Number : 87 Question Id : 4699751900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

He gave a talk the effects of using plastic. Fill in the blank with correct preposition.
Options :
4699757545, ® With

4699757546, ¢ O1

4699757547, % TOr

4699757548, ® ©

Question Number : 88 Question Id : 4699751901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pick the most suitable word to complete the sentence.
One who abandons his religious faith is called

Options :
4699757549, v APOState

4699757550, % Prostate

4699757551, ® profane

4699757552, ® Agnostie

Question Number : 89 Question Id : 4699751902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Fill in the blank with appropriate verb form.
I was very happy that she my dress so nicely.

Options :
1609757553, % Will be stitching

4699757554, % stitches

4699757555. ¢ stitched

1609757556 % Wil stitch

Question Number : 90 Question Id : 4699751903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Her finicky attitude was the main reason for their fight.
Meaning of the underlined word is

Options :
fussy
4699757557. ¢

hasty
4699757558, % 2

4699757559, % CTuel

4699757560, % Smart

Question Number : 91 Question Id : 4699751904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“What time should we leave for the meeting?” The sentence is

Options :

169975756] % mperative

exclamatory
4699757562.

4699757563, % ASSETIC

4699757564, ¥ mierrogative

Question Number : 92 Question Id : 4699751905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The manager frowned at the employee. The passive voice of this sentence is

Options :



The employee was frowned by the manager.
4699757565. %

The employee was being frowned by the manager.
4699757566. %

1699757567, % The employee was being frowned at by the manager

1609757565 w 1€ employee was frowned at by the manager

Question Number : 93 Question Id : 4699751906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ravi told me. “T will watch the film Kantara tomorrow.”
The reported speech of the sentence is:
Options :
1699757560, % Ravi told me that he will watch the film Kantara tomorrow.

4609757570, % Ravi told me that he watched the film Kantara the next day.

Ravi told me that he would watch the film Kantara the next day.
4699757571, ¥ .

Ravi told me that he would be watching the film Kantara tomorrow.
4699757572. #

Question Number : 94 Question Id : 4699751907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the grammatically correct sentence.
Options :

1609757573, 1 asked her for chocolates, but she didn’t had any.

4699757574, % I asked her for chocolates. but she didn’t had none.

I asked her for chocolates, but she didn’t have none.
4699757575. %

I asked her for chocolates. but she didn’t have any.
4699757576, ¥

Question Number : 95 Question Id : 4699751908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The train was nearly full so it was difficult to . Fill in the blank with
appropriate phrasal verb.

Options :



get in
4699757577. ¢ ©

get on
4699757578, ® =

gef w
4699757579. ¥ = P

et with
4699757580, % &

Question Number : 96 Question Id : 4699751909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the correctly spelt word.
Options :
Adverisity
4699757581, %

Advercety
4699757582, % !

Adversity
4699757583, ¥

Advercity
4699757584, %

Question Number : 97 Question Id : 4699751910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the antonym of the word “talkative’?

Options :

Chat
4699757585. % v

Silent
4699757586, ¢

4699757587. % Judge

Immense
4699757588, #

Question Number : 98 Question Id : 4699751911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Mangoes are usually than bananas.
Options :

more sweeter
4699757589, %



most sweet
4699757590. ®

sweeter
4699757591. ¢

sweetest
4699757592. ®

Question Number : 99 Question Id : 4699751912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The principal’s to conduct the supplementary exams within fifteen days
made all the students very happy.

Options :

46997575903, % ASCENT

4699757504, % ascend

assent
4699757595. ¢

4699757596, % ACCENt

Question Number : 100 Question Id : 4699751913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What kind of films i

Options :

1609757507 = does Mahima likes

Mahima likes
4699757598. %

4600757500 % Mahima like

does Mahima like
4699757600.

General Knowledge and Educational Issues

Section Id : 46997564
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 46997577

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 101 Question Id : 4699751914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The theme of the International Women’s Day 2023 1s
wodrhah HIr¥ 8T G0 2023 @Y 65

Options :

Digit All : Innovation and technology for gender equality

&3¢S ©f: Dol JrdE=RE LB HBAD FoTEEE
4699757601. ¥ ==

Gender equality today for a sustamable tomorrow

Z® Dol JS5mEr0 hETos BTHOE
4699757602, ® = o

Women in Leadership : Achieving an equal future in a COVID-19 world

seoorsTes TSSO & So¥rden - FPOE 19 [HHotos” SErdE PRYSH FSD

An equal world is an enabled world
SEPEIS (Hdoo I8 SoSqs (BSBoiso
4699757604, *

Question Number : 102 Question Id : 4699751915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“ RRR” Movie has won the Oscar award in the category of
“RRR” o d&r, oams o8 & Do’ Rensrodod
Options :
Best Music Director
4699757605, ®  BEN VoNE SHED
Best Lyricist

a8 ASst
4699757606. %

Best Smger
"

4609757607, % DEXD MO
Best Original Music

B8 .8200 Sohdo
4699757608. ¥

Question Number : 103 Question Id : 4699751916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the new Indian mcome tax regime 2023-2024,
5% tax has to be paid by those whose income is between
58 BEoS® Y errohsy Dy Derdo 2023-2024 (P80

5% 58y Do Do 5355_.%@ SrdHo



Options :

Rs. 6 Lakhs to 9 Lakhs

Er. 6 ol HHod 9 e H8%
4699757609. % = =

Rs. 9 Lakhs to 12 Lakhs
&r. 9 ofe fod 12 ofe 8%
4699757610, %

Rs. 3 Lakhs to 6 Lakhs

Sr. 3 ofe H00b 6 ol J8%
4699757611, ¢ = =

Rs. 12 Lakhs to 15 Lakhs

e 12 ofe Sod 15 oo 8D
4699757612, %

Question Number : 104 Question Id : 4699751917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The gas that 1s mostly filled in fire extinguisher 1s
of) S8 HBEB0E” DK e QoBHs a0

Options :

Carbon dioxide

=5o oeG
4699757613, ¢ = B> £58)

Oxygen
B\
eya
4699757614, %
Carbon monoxide

=Ee D)6
4699757615, % o

Hydrogen

oy (1)
4699757616, ¥ =

Question Number : 105 Question Id : 4699751918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bhupen Hazarika was awarded Bharath Ratna for his contribution to
RS PebX S SorrQd D ’5@&1& 88 68 Dot oodod

Options :
Music
o
4699757617, v 2ONEO
Painting
(s Bepdo

4699757618. ®



Sports

@Eﬁw
4699757619, %
Literature
Fir&Ero
4699757620. % C

Question Number : 106 Question Id : 4699751919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India’s rank in children climate risk index 1s
Too TEI8n (HIrE WAk &8s B8 FXo
Options :

14

4699757621, %

4699757622, % 13

4699757623, ® 25

4699757624, ¥

Question Number : 107 Question Id : 4699751920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The indigenous Indian Navigation System developed by ISRO 1s
28 B ErProbodd B Jomed HHY (TINGS BPo)
o [5]) €
Options :
soo9757605, % TIX SIS

NavIC
4699757626. ¥

RISAT
4699757627. *

GSAT
4699757628, #

Question Number : 108 Question Id : 4699751921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Washing Machine works on the Principle of
T2oh DhT & Se@o D B0 Ihod
Options :
Centrifugal force
4699757629, v SSEOEDOO



Gravitational force

s Ets Do
4699757630, # e

Centripetal force
m—l‘
4699757631, % ©PSoENOO

Kinetic force

6% o0
4699757632,

Question Number : 109 Question Id : 4699751922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The full version of Indian National Anthem shall be sung or played in approximately
F58BaH =80H Ao seohos Sed® Scho HErdre

Options :
45 seconds
=
4699757633, 45 D5
52 seconds

52 ED
4699757634, ¢ *

30 seconds

30 RER
4699757635, %

60 seconds

60 I
4699757636. # i

Question Number : 110 Question Id : 4699751923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Indian railway protection force uses the robot named captain
T8 BT, ES Drifo abdrnod FE° D& =S
Options :
Arjun

[l vis)
4699757637. ¢ — @

Rail

Ben
4699757638, ® =

Rakshak
<=
4699757639, ® OBS

Veer

8

4699757640, %



Question Number : 111 Question Id : 4699751924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Cheraw folk 1s a traditional cultural dance performed in
Boe o a8 FoPErdd =D §)Fo S To(EEE Toddd
Options :
Assam
4699757641, % B

Arunachl Pradesh

_‘,—P -
4699757642, % ODETTES (BHBE

Sikkim

&0
4699757643, % ¢

Mizoram

4699757644, ¥ 5o

Question Number : 112 Question Id : 4699751925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Indian Manuscript that 1s in UNESCO’s Memory of World Register is
I G0k kb ©F 568 B2H6 & ad) 788 3% S8

Options :
Mahabharata
\/—S -y
4699757645, % 03F GOS0
Ramayana
4609757646, % TToIPCR020
Rigveda
4699757647, v SRTLEO
Arthasastra
o8 Ko

4699757648. ®

Question Number : 113 Question Id : 4699751926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first Indian to win Booker Prize 1s
T8 BE0S® wEE P Tenhio®) Bosd S8

Options :

Kiran Desai
—
4699757649, % S8% BarFo®



Salman Rushdie

HemS 85
4699757650. % e %8
Arvind Adiga

@bof b
4699757651, % ‘”

Arundati Roy

©%058 oodH
4699757652. ¢

Question Number : 114 Question Id : 4699751927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The host country of G20 Summut 2023 1s
2023 &* G20 $5rSeRE 8852 ©obuy) o

Options :
Canada
-

4699757653, % el

South Korea

BB EP8GDH
4699757654, % =

India
4699757655,  TO8BT0

Brazil

=2
4699757656. % @‘”6

Question Number : 115 Question Id : 4699751928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Purple frog is endemic to the
BTS0rH 58 © THDS (HBTIT HBMHEZ dotwod

Options :

Andes mountains , South America

@oln Irmren, S ©ndE
4699757657. # S = =

Rock Mountains, USA and Canada

B v4aka — =
4699757658 % TS HFczren, @HBse B SIS

Western Ghats, India
1699757650, ¢ DB Ekodoen, ESBIo

Alps Mountain, Europe
o) D zren, 28°%
4699757660. %



Question Number : 116 Question Id : 4699751929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SWAYAM refers to :

AR, Bar.a.8 @.20 ( SWAYAM) e

Options :
Study World of Action Leaming for Young Aspiring Minds
ot w o o, =

L6007 66 .{3& ééag 8l drES o8l H6 abofl edpBoh Fok)
Study Webs of Active Learning for Young Aspiring Minds

5 = 2 il -,
4699757662. ¥ S& 30) ©P ofS ©Bf HE chofl v BN Dok

Study Webs of Action Learning for Young Agile Minds

é& 3D 8P LS odeh H8 dboll ©BS ok
4699757663. %

Study Webs of Aspiration Learning for Young Active Minds

4 - =% - a
4699757664, % 86 30) 8P BYTHS ©8)oh HS Aol ©fS Fok)

Question Number : 117 Question Id : 4699751930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is the digital initiative for Creating — Digital Environment
tor Design?
Bod 7&&° &zbd rerdbmo Erdtee QHRodeRE EDLE) dawd FES 067
Options :
e- Kalpa
e-So)
4699757665. ¥
e-yantra
4699757666. % SR
e-vidwan
4699757667. % ghoc 2

e-acharya

E‘-@G"Eﬁa
4699757668 #

Question Number : 118 Question Id : 4699751931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which Union Ministry launched the SHRESHTA scheme?

(F82 (SHRESHTA) e $5°®) O Tolls Sol@ds o [B3E 28%8 ?
Options :

Ministry of Education

469975760, ® D05 OBE T
Ministry of Women and Child Development
4699757670, % & HBGSH 85 e.—ai)ée]% o8y
Ministry of Tribal Affairs
soorsTen. x OES 0B T
Ministry of Social Justice and Empowerment

oo IV :
460975767, TAEEE TLADO B FRTES oG] T

Question Number : 119 Question Id : 4699751932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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STEAM Education is an amalgamation of :
IR, B.a.d.d0 (STEAM) D&y 0oké D& é&éﬁﬁo
Options :
School, Teachers, Educators, Administrators and Managers
o = =,
600757673, % S é)zﬁS‘J, DT, ©&AF®E) 8o SoeesB)
Science, Teachers Education . Arts and Mathematics
= e s
roorsrgry x Do) G55, HEES, ©f), Hba SrEHEs)
Students, Teachers, Education, Administration and Management
rcoorsngrs x NECOL), &8, BERS, ©{RPHS Hobakw HIFDots
Science, Technology. Engineering. Arts and Mathematics

4699757676, v B Boned, soalsoh, ©f) Hbain SrFHEAE)
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In NEP -2020, what does ECCE refer to
8ah Doy Deedo 2020 &F 2pdz HID FrOR0d
Options :
Elementary Childhood Care and Education

DOTooerd BT & B8 wol AErTAD
4699757677. —_G o



Early Childhood Care and Education

= ~ o
1699757678, ¥ o) Qegomﬁ 28 ool o,ciaauqnﬁ

Early Children Care and Education

28 DS B8 wof AHTRS
4699757679.

Elementary Children care and Education

DOTvoobd DS 28 ©@0of DSrTAD
4699757680. % =
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Which of the following schemes have been subsumed in Samagra Shiksha ?
D HFseen JD|H B56° Zodnssd?

Options :

Sarva Shiksha Abhiyan (SSA) and Rashtriya Uchchatar Shiksha Abhiyan (RUSA)

soorsres w8 B ©DAS (SSA) Db lich e)35 #x ©PaeS (RUSA)

Sarva Shiksha Abhiyan (SSA), District Primary Education Program, (DPEP)
Rashtriya Uchchatar Shiksha Abhiyan (RUSA)
3%, 3z ©ArS (SSA). BRE (Pd TAES @S (DPEP)

a5 a5E5 8z oS (RUSA)
4699757682, % Uﬂ[‘% 2) = o ( )

Sarva Shiksha Abhivan (SSA). Rashtriva Madhyamik Shiksha
Abhiyan(RMSA) District Primary Education Program (DPEP)
58y Agr oS (SSA), oofioh SrEod 4z ©ErS (RMSA).

BRE (P06 ASATES (@S (DPEP)
4699757683, ¥

Rashtriya Uchchatar Shiksha Abhiyan, Rashtriyva Madhyamik Shiksha
Abhiyan, Sarva Shiksha Abhiyan, District Primary Education Program.
oofod 388 8z ©dasrS (RUSA), oohah ol 85 ©faieS (RMSA).

383 8z ©DarS (SSA), BRE Rx08 SRS @S (DPEP)
4699757684, #
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Which of the following was launched as a part of “Digital India™ initiative to
provide digital e-book version of school books and other study materials to school
students throughout India?
“BeS molaire’ & grifore, B TgRoMT &rETER &wgd:@@& FETO PITen
8208 e-HIE Erdo &, add eifHs TN obHbD Bkt FEH 56?

Options :
Swayamprabha
- il
reodbo|Hg
4699757685. % = e
e-basta
e- 2%

4699757686. ¥

Sugamya pustakalaya

0N YITEOSH
4699757687. % e
Vidyadaan

é.')m*;mS
4699757688. %

Question Number : 123 Question Id : 4699751936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Which of the following organization is concerned with the qualitative development

of school education m India ?
88 Bdo & ST 3365565 et 058 & Bonohohs o D&?

Options :
University Grants Commussion (UGC)

050588 (roed) %S (UGC)
4699757689. ®

National Council for Educational Research and Tramning (NCERT)

JARE TS HE ANTARS 83F) wok [@of (NCERT)
4699757690. ¥

National University of Educational Planning and Adnunistration ( NUEPA)
I556 dﬁm@é&;\\]é) oD a@;ﬁﬁéﬁ arQoh ©ob @&é&)@&%
4699757691, %

Indira Gandhi National Open University ( IGNOU)

2080° mod IHAXS L5 cﬁm&);ﬁ&gé
4699757692, #
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Digital divide is related to
&2ed s HQ8 Jonododdd
Options :
Cyber Ethics

208 385
4699757693, ¢

Business ethics

TRl 388E
4699757694, %

Medical ethics
o »
4609757605, % D% SBES

Professional ethics

HBHEI® DBLS
4699757696. #

Question Number : 125 Question Id : 4699751938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Which of the following does RTE Act (2009) not prohibit?
Qg 8y S0, 2009 EAR V1o S,
Options :
Mental harassment and physical punishment

So%%% 5o Hbakw 68K BY
4699757697, %

Screening procedures for admission of children

Doren [HuBoBothH Hbgen QS-grosto
4699757698. %~ 0B = o

Free and compulsory education till completion of elementary education

@ E0E D TSy BDE S VK)o D
4699757699. ¥

Running of schools with no recognition

4609757700, % 28O 8508 SFdToed $EBGE0

Question Number : 126 Question Id : 4699751939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following are the pedagogical strategies proposed by NEP 20207
2= BAH Doy d=do 2020 by cﬁﬁcﬁn‘ﬁ:ém‘ ek (H8=80D0s?

Options :

Inquiry based learning, Storytelling pedagogies, Drill and Practice

DS ©p=88 ©i[ddo, Lfen I Ko oroe 558, (&S SoBasm SlaigStel
4699757701, % = =



Inquiry based learning, Storytelling pedagogies. Discussion based
classrooms
4609757702, ¢ DTt erdd oiffddo, Efen TGo ooe 59, 58) egrdd S518 Hhen

Inquiry based learning, Drill and practices, Discussion based classrooms
4699757703, % DSes erdS wirgdo, (BS obatn FES, $8) werdd S8KS Hen
Story telling pedagogies. Discussion based classrooms and Drill and
Practice

EX&en DKo Troe 5558, S8 orrdd S858 KXo, (&S SoBaw F&S
4699757704, % = = =

Question Number : 127 Question Id : 4699751940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of these output devices are most suitable for a person with blindness?
®og&0 o 88 S SDRTPHIE ©HETHE (output) H8%cren HO?
Options :
Text to speech, Key board and Magnifiers
BE) o &5, 5% Hbca §ird egsn
4699757705, %

Speakers, Braille Keyboard and Typoscope

528, Bowd E58 B BRFD
4699757706. ¥ S = = =

Braille Key board, Typoscope and subtitles
seoorsigy x  BowD & 5%, BRFRD Hbam 5B
Speakers, Mouse and subtitles

558, TR HBcs JHSBES)
4699757708, %

Question Number : 128 Question Id : 4699751941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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What is the aim of Education for Sustainable Development ?
”'n:oﬁéad @&Eﬁa@ 6 Dy Goo¥) oo Hd?
Options :
National Understanding
4699757700, % TBAD SSEEY

International Understanding

LoSTHH BIFEFES
4699757710. % &



Responsible thinking and acting

ST OINEDE & SH B oSt

4699757711. ¥ = =~ =
Saving the Earth

A 3
e KodEe
4699757712, ® %

Question Number : 129 Question Id : 4699751942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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PARAKH guidelines are associated with
Soof (PARAKH) Smgesgiceen 598 BonoBodHD
Options :
Improving gender equity
4699757713, ® Dol DardSo HBrvHdEEo

Traming of In service teachers
. x
4699757714, % ﬁ&%mv q}éﬁ:éé o
Assessment of Holistic development
4609757715, OTG SPYY B0
Evaluating mid-day meal scheme

o 03 HEme o =
1600757716, % Sogrgss) Fhead D Q) Soreroido dabio

Question Number : 130 Question Id : 4699751943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Which of the following are the objectives of Rashtriva Uchchatar Shiksha Abhiyan ?
m@cﬁa ﬁﬁ&é& 8z odoirs Gnd) ogren 28?
1.  To improve the overall quality of State institutions
o8 Fow Do Hode Frd Fond® Trerd Dodko
=] = & - & o
i1. To ensure adequate availability of quality faculty
e PR THHe oS vobHmrtns®s 8o

. To identify and fill critical infrastructural gaps in Higher Education
SRS D& & Lol TPOE JShardire wodore K80 rBobto

1v. To downgrade universities with poor ifrastructure into autonomous colleges
$B% Devaraires B DY Dorgedired Jrodo (@88 o Seedoenrr Srg)to

Select the correct answer from the codes given below:
Bod =8&° $BY SSrrraeQ) HBoS0d

Options :



(1),(11) and (111)

4699757717. ¥

(1), (111) and (1v)

4699757718. #

1699757710, % (1).(11) and (1v)

(i).(ii) .(iii) and (iv)

4699757720. *

Computer Awareness
Section Id : 46997565
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 46997578
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 131 Question Id : 4699751944 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following is not a network device?
208 @& SIS HBETo =& A&?

Options :

Router

G
4699757721, *

Switch
2.
4699757722, % RGO

Hub

. D
4699757723, ®

CPU
dain
4699757724, ¥

Question Number : 132 Question Id : 4699751945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Which of the following is an example of system software?
Bob &&° BPHD FPaib B wwrirsn 267

Options :
Ms-word
Ms aﬁg
4699757725, %
E-mail

4699757726, % De000E

DOS

|

4699757727, ¢ BN
Internet

aoéaag_ﬁ
4699757728, %

Question Number : 133 Question Id : 4699751946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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A group of eight bits is termed as..............

2088 Hfe DR .. o e e ate®
Options :
Byte
e
4699757729. ¢ =
Nibble
4699757730. % Sy
Word
S8
4699757731, % ©
Digit
&2e5

4699757732. ®

Question Number : 134 Question Id : 4699751947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Quick Heal, Norton, AVG, Smart Dog are the examples of......
&€ EreS, m'g5 AVG, %@é o DO. arrirSmen

Options :



Antivirus

irodIBR
4699757733, ¢

Boot sector virus
a0re) 50 IV
4699757734, ¥ =
Worms
=&
4699757735. %
Trojan Horses
PS5

4699757736. ®

Question Number : 135 Question Id : 4699751948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Which of the following is a server on the Internet that holds web documents?
Bod =BS° IT HlzroH DA &) BowB)TE* $5:5 D6?
Options :

Web server

385 [J86
4699757737. ¢ =)

Chat server

=87 HE8
4699757738, % o

Mail server

Hond 358
4699757739, * =

Application server

OHTHD D58
4699757740, % SRSNW O

Question Number : 136 Question Id : 4699751949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0
Who is the co-founder of Apple computers who developed the touch screen iphones?
[otn) @0&5 MRS STV @@é@% 558 @dhS Sogrgeabe S a’aga')ﬁc;éfotfo Q& ?
Options :
Steve Jobs

55 w:ﬁ\‘)
4699757741, & &

Bill Gates

4699757742, % o6 ﬁes“j



Steve Wozniak

%5 .558&6595
4699757743, %

Stevenson
%5&(35
4699757744, %
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The term gigabyte refers to.....
ArSEeS oI H80 HAQ Srdhod......

Options :

The speed of computer

W
ol Jre
4699757745 % - @ 2,

The memory size of computer

Bodred Db H85rerR)
4699757746. ¥ =

Antrvirus software

A =
ssoors7ay, % OTOD BT FHIE

Network device

JTHG) HBEBo
4699757748, # =

Question Number : 138 Question Id : 4699751951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Which of the following is NOT a computer hardware?
Bod o8& 26 Loyl KJ‘BQEES =%?
Options :

RAM

[ o8 GE)R od

MS Paint

1 5 -
14699757750, v MS oot

| )
olgd (Frpdon chred
4699757751, %

Monitor

4699757752, * SR8



Question Number : 139 Question Id : 4699751952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Dot-matrix 1s an example of which type of hardware resource?
w=eJ Sy 88 &I O BEDS 5354255 INBe Gorrte?

Options :
Tape
&5
4699757753, %
Printer
(©oe8
4699757754, ¥
Disk
&
4699757755. % .
Bus
{—

4699757756. ®

Question Number : 140 Question Id : 4699751953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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A Web page on internet is identified with a/an
20687 &2 35 DE ... 8 HBoSHS0s

Options :

[P address

IP o&Ed
4699757757, #

URL

oo «f 2O
4699757758, ¢

Protocol
S

4699757759. ®

Filename

28 2
4699757760, % &
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Which printer 1s commonly used for desktop publishing and 1t 1s also very fast?
RS HPhoh ESo Ferdmorr aHTDEN0D HISoSPE  (Bod H&?

Options :



Laser Printer

Se:b Qo5
4699757761, ¥

Ink-jet Printer

E_=3 o
4699757762, & O T B

Daisy wheel printer

. B5 &S (Bows
4699757763. % &

Drum printer

4699757764. ® @50 @30&35

Question Number : 142 Question Id : 4699751955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Which of the following 1s NOT an example of application software?
Bod =" DB ©BIXS &%3‘35 L aoededn o ?
Options :
Google

4699757765, % 1°IDES

Yahoo

4699757766. %

MS office
MS 5%

4699757767, %

DOS

|
4699757768, ¢ &
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In a word document. what 1s the nunimum and maximum number of
columns that can be mserted n MS word table?
éé m&a@:oeﬁaﬁ'&, MS aég HonS&® Aot

roa) ( columns) £08 oo 1188 Sogy Dod?

Options :
2 and 10
"
4699757769. ® = B 10
1 and 30
1 08acs» 30

4699757770. %



2 and 45

2 H8aso 45
4699757771, #

1 and 63

1 s5:8c5 63
4699757772. ¥
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What 1s the smallest and largest font size available in font size tool in MsWord?
MsWord &% §=o¢5 Qe FEL08° woerins® &) ©8 2§ Db ©8DY

ar085 HBZrro WB?

Options :

4 and 72

4 08c5n 72
4699757773, %

8 and 72

8 Hobcsw 72
4699757774, ¢

6 and 72

6 oBdsn 72
4699757775. %

8 and 74

8 Hobain T4

4699757776. %
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The 1s a toolbar in Microsoft Word and Microsoft Excel.
that gives the user the ability to change the formatting of selected text.
DEFP 58 S8k DEFF 955 6% eSS, oy
Eéatﬁmé& @‘U‘é&fioﬁ L Srg)ie &éﬁt&:@ DIToriT= 5ot ©obnod.
Options :
Formatting
&U‘gﬁoﬁ
4699757777. ¥
Standard
(BB %0
4699757778, %
Drawing
([eowof

4699757779, #



Object
ozs
4699757780, % 96

Question Number : 146 Question Id : 4699751959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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What 1s the minimum zoom percentage supported by MS Word?
MS Word Jog 205 a7 225708 HE8508?

Options :

th
.‘\Q
=

4699757781, ®

0

(=]

4699757782. ¢

15%
4699757783, *

25%
4699757784, % T
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A light sensitive device that converts drawing, printed text and images
into digital format 1s known as. . ...
[Gronof, 2088 &E) Hbdw sddes &8s Folic’d S8 B8 2SS

a’:&ﬁmé’@\ Zer ©olFE. ...

Options :
Scanner
%{}65
4699757785. ¥
Printer

o,
4699757786, % (@088

Keyboard

5%
4699757787. % =

Plotter
soorsTrss, & B0

Question Number : 148 Question Id : 4699751961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Which of the following is open source software?
Bod 86" L5 'y FPIE 28?7

Options :



Acrobat reader

o5reS 655
4699757789, #

MS word

MS 385
4699757790, % -

Mozilla Firefox

SoRer 26E)
4699757791, ¥

Windows XP

QoG A5
4699757792, % <

Question Number : 149 Question Id : 4699751962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Which of the following is the decreasing order of storage capacities of
external disk?
Doy wrsboye egedorr, (Eob TS oy SR Sipie (Eho 28?

Options :

USB, DVD, CDROM

1609757703 v CO0.20.8, D&, H85° %

CDROM, DVD, USB

HA8°5:,898, din.d%.9
4699757794, %

DVD, USB, CDROM

DA, c50.05.80, HESED:
4699757795, %

CDROM,USB, DVD
A, cin.2%.9,808
4699757796. ¥

Question Number : 150 Question Id : 4699751963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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What does SMS stand for?
SMS 8 &m0 DEHE?

Options :
Short Mobile Service
&5 FBS 36D
4699757797, ® & = =
Short Media Service

ot B
sogrsrron w TG baie $ET



Short Message Service
- i f
4699757799, ¢ ané e
Send Mobile Settings
208 @S o)
4699757800. %



